
qm=;= sfo{qmd

k'jf{wf< ljsf;/;fdflhs ljsf; ;lxtsf] 2228000
1 j8f afnSnj / ;~hfnsf] lgoldt a}7s 50000
2 cjnf]sg e|d0f 120000
3 a8f afnSnjdf v]ns'b ;fdu|L ljt/0f 100000
4 a8f jfn Snj / ;+hfnsf] afnaflnsfsf] nflu Ifdtf ljsf; tyf afnd}qL ;DalGw tflnd 250000
5 O{–afnk':tsfnosf] nflu k'jf{wf/, kmlg{r/ / afnejg lgdf{0f -jfnkfs{ zDe'gfy g=kf=–#_ 800000
6 s'nt lj?4sf] hgr]tgf / ;8s gf6s 80000
7 afnsf]if :yfkgf tyf ;+rfng 50000
8 xfh/L hjfkm k|ltof]lutf ;+rfng -p=df=lj eujtk'/_ 50000
9 lhNnf :tl/o afn gf6s tyf ;f+:s[lts k|ltof]lutf ;+rfng 100000

10 afnd}qL ;DalGw kf]i6/, kDkn]6 tyf k|rf/ sfo{qmd 100000
11 afn kqsfl/tf tflnd 100000
12 ljBfnoaf6 j+lrt, lg/If/ lszf]/ lszf]/Lx?sf] nflu lzkd'ns tflnd 150000
13 lszf]/Lx?sf] nflu Kof8 agfpg] tflnd 75000
14 afn Snj / jfn ;+hfnsf] kf]zfs vl/b 118000
15 :s'n egf{ ;DalGw ¥ofnL / 3/b}nf] sfo{qmd 50000
16 afne]nf sfo{qmd 15000
17 afn ;+hfn ;lrjfno ejgdf vfg]kfgL, zf}rfno tyf 3]/fjf/ 20000

hDdf afnaflnsf tkm{sf] Joo cg'dfg 2228000 2228000

qm=;= sfo{qmd

;fdflhs ljsf; tkm{ 1485000

1 l;kd'ns l;nfO{ s^fO[ tflnd j*f g_= 1 b]lv 11 ;Ddsf dlxnfx?nfO{ 500000

k'jf{wf< ljsf; tkm{

1 zDe'gfy dlxnf art tyf ;xsf<L ;_:yf ln=sf] cw'<f] ejg lgdf{)f 285000

3 lbgfeb|L gf=;=s]]=sf] cw'<f] ej_g lgdf{)f 100000

4 vfg]kfgLsf nflu ^\Jj]n j*f g_= 10 200000

5 jly_u ;]G^< j*f g_= 9 nfO{ 200000

6 dfF kfj{tL ;fd'bflos ;_:yfsf] ;b:ox?sf] cfly{s ljsf;sf nflu df%f kmf<d ;_rfng 200000

hDdf dlxnf nlIft tkm{sf] Joo cg'dfg 1485000 1485000

ah]^

zDe'gfy gu<kflnsf, ;Kt<L
a=p=zL=g_= 3658033 gu<kflnsf cg'bfg kF'hLut vr{ tkm{sf] Joo c'gdfg

cf=a= 2074/075 sf] nflu afnaflnsf nlIft sfo{qmd
ah]^

cf=a= 2074/075 sf] nflu dlxnf nlIft sfo{qmd



qm=;= sfo{qmd

3148000
1 zx/L :jf:Yo s]Gb| Joj:yfkg vr{ -j8f g+= $_ 150000
2 j]txf ;fd'bflos ejg lgdf{0f j]txf– -j8f g+=!!_ 75000
3 nx/lgof d';xl/df ;d'bflos ejg lgdf{0f – -j8f g+=–!!_ 100000
4 blnt /f=k|f=lj= /fhk'/– -j8f g+=–!!_ 100000
5 dxfb]j ;fd'bflossf] cw'/f] ejg lgdf{0f sfo{ – -j8f g+=–!!_ 100000
6 k'n lgdf{0f nIdL d08n 3/ glhs – -j8f g+=–!)_ 200000
7 j;njk'/ d';x/L b]lv dxfb]j dlGb/ b]lv k'j{ l;/sh/L l;dfgf ;Dd df6f] u|fO{e]n -j8f g+=–(_ 200000
8 b]jwf/ glb b]lv lel8ofsf] dG;'/L6f]n x'b} s[lif ;8s lgdf{0f tyf Xo'd kfO{k h8fg – -j8f g+=–)*_ 300000

9
eujtk'/sf] ;bfj:tL b]jwf/ ahf/ e+uxf 6f]nsf] tTdf j:tL / ;bf j:tLdf tf/kf]n h8fg sfo{– -j8f g+=–&_

300000
10 s7f}gf g;{/L b]lv blIf0f uf]kfn ;fxsf] 3/ ;Dd ;8s lgdf{0f sfo{ –-j8f g+=–)^_ 150000
11 lg=df=lj= s7f}gfsf] ejg lgdf{0f tyf 5fgf nufpg] sfo{ –-j8f g+=–^_ 150000

12
dx]Gb| /fhdfu{b]lv blIf0f df]xgk'/ ufpsf] k'j{f/L 6f]n ;Ddsf] ;8sdf df6f] tyf u|fO{e]n / Xo'd kfO{k sfo{ -j8f–%_

300000

13
;'lgn rf}w/Lsf] s'v'/f kmd{b]lv /fdaxfb'/ rf}w/Lsf] 3/ x''b} w'j{ rf}w/Lsf] 3/ ;Dd ;8s lgdf{0f –-j8f g+=–$_

200000
14 ;8s dd{t en'jfxL 6f]n –-j8f g+=–@_ 125000
15 6«fG;kmd{/ vl/b -j8f g+=–#_ g/xL 200000
16 cfwf/e't sgsk§L ljBfnosf] jf}08L jfn tyf df6f] ;Dofpg] sfd –-j8f g+=–@_ 300000
17 /fdhfgsL dlGb/sf] jfpG8«L jfn lgdf{0f– –-j8f g+=–!_ 98000
18 j8f sfof{no ejg cuf8L rf}tf/f lgdf{0f sfo{–-j8f g+=–!_ 100000

hDdf k|j{$gfTds tkm{sf] Joo cg'dfg 3148000 3148000

zDe'gfy gu<kflnsf, ;Kt<L
a=p=zL=g_= 3658033 gu<kflnsf cg'bfg kF'hLut vr{ tkm{sf] Joo c'gdfg

cf=a= 2074/075 sf] nflu k|j{$gfTds sfo{qmd

ah]^


